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In this exercise you are presented with a set of data in the form of the result of a horse race. You will extract data, convert and calculate within imperial (non-metric) weights, calculate ranges and means at Level 1 and calculate modes (modals) and medians at Level 2.  In the optional extension activity you will convert within non-metric units at Level 1 and between metric and non-metric at Level 2. 
Denton Diva
Here is the result of the Final Furlong Racing Stakes over 1 mile 1 furlong held at York at 2.15 on May 15. 
1) Quixall Crossett 

       14 (Age) 9 stones – 4lbs (Weight)
2) Will He Wish


 
13 (A) 9 st. – 5lbs (W)
3) Chamerion 



5 (A) 9 – 2 (W) 

4) Stargazy



 5 (A) 9 - 4 (W) 

5) Place The Duchess 


3 (A) 8 – 0(W) 

6) Kijivu 




6 (A) 9 – 4 (W) 

7) Denton Diva 



3 (A) 8 – 0 (W) 

 8) Bay Hawk 



6 (A) 8 – 7(W) 

 9) Minster Shadow 


10 (A) 9 – 9 (W)
 10) King’s Ransom 


5 (A) 8 – 2 (W) 

Note: There are 14 pounds (lbs) in a stone (st).
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Chamerion
Answer the following questions on the data.
Reminder: The mean of a string of data (figures) is what the figures add up to, divided by how many separate figures there are. (The average). So in 1+2+3+4+5 the mean is 15/5 = 3. The range of the data 1, 2,3,4,5 would be 4, as four is the difference between the highest figure (5) and lowest figure (1).  The median of 1, 2,3,4,5 is 3 as the median is the middle one of a string of numbers (In 1, 2, 3,4,5,6 the median is 3.5, halfway between 3 and 4.) There is no mode or modal (number that is there most often in 1,2,3,4,5) as no number occurs more than once. But in 1, 2, 3, 3, 4, 5 the mode would be 3, as 3 is there twice.
Level 1 

1. What weight did the winning horse (Quixall Crossett) carry in pounds? _____________ 

2. a)  What was the range of the horses’ ages in the race? ____________ b) How many months is this? _______
3. What was the range of weights in the race in a) stones and pounds _______ and b) pounds? _________
4. a) What was the mean (average) age of the horses in the race? ___________ years. b) How many months is this? _____
5. The jockey of the horse in 5th place was supposed to carry 7 stone 11 lbs. How many pounds overweight was she? ______
Level 2 questions

1. a) What was the median age of the horses in the race? _________ b) What is this in months? _____
2. Is there a unique modal (mode) of the age of the horses in the race? _______

3. What is the median weight in a) stones and pounds_____ and b) pounds? ______

4. a) Is there a unique modal weight? _____________ b) What is this in pounds? _________
Extension activity: For Level 1, convert all weights given into pounds. For Level 2, convert all weights into metric weights. (Hint: Convert into pounds and divide by 2.2 to get the weights in kilograms). Correct to the nearest half-kilogram. 
Answers. 

Level 1 questions.

1. 130 lbs. Did you round up the weight to 10 stones and multiply 10 by 14 = 140 then subtract 10 lbs to make the calculation easier?

2. a) 11 years b) 132 months. Did you remember that there are 12 months in a year?
3. a) 1 stone 9lbs b) 23 lbs
4. a) 7.0 years b) 84 months
5. 3lbs overweight
Level 2 questions

1 a) 5.5 years b) 66 months. Did you remember that .5 (half) of a year is 6 months? 

2. 5 years 

3. a) 9 st 3lbs b) 129 lbs
4. a) 9 st 4lbs b) 130 lbs
Adult Numeracy Core Curriculum References – Handling Data HD1/ L1.3, 4 HD1/L2.1, 4 Measure Shape and Space MSS1/L1.6,7, MSS1/L2. 5,6
With thanks to the members of Final Furlong Racing (www.finalfurlongracing.co.uk) and Michael Dods, trainer of Chamerion and Denton Diva. 
